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1. Given the series defined by Y1>,16 (E) , determine the
common ratio, the number of terms and the sum.
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Sequences and Series

. Find the 14" term of the sequence {3,11,19....}

. Three consecutive terms of a geometric sequence are 2.5, y+3
and 9.6. Find the value of y.

. Compute the sum of the first 8 terms in the sequence {1,-3, 9.....}

. How can you tell whether or not an infinite geometric series has
a finite or an infinite sum?

. Find the 18" term in an arithmetic sequence who’s 2™ term is 11
and who's 8" term is 41.
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Find the 14" term of the sequence {3,11,19....} d
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3. Three consecutive terms of a geometric sequence are 2.5, y+3
and 9.6. Find the value of y.
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4. Compute the sum of the first 8 terms in the sequence {1,-3,9.....} <™
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How can you tell whether or not an infinite geometric series has
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a finite or an infinite sum?
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6. Find the 18" term in an arithmetic sequence who’s 2" term is 11
and who's 8" term is 41.
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7. Find the 9" term in a geometric sequence who's first term is 6
and who’s 4" term is -3/4.

8. Calculate the sum of the infinite geometric series given by
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7. Find the 9" term in a geometric sequence who’s first term is 6

and who's 4" term is -3/4. ti == 6 kg = G(—_LYH
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8. Calculate the sum of the infinite geometric series given by
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